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Chapter 5: Multiples and Factors

Exercise 5A

W N -

‘h

® N o

10.

. First ten multiples of 7 are 7, 14, 21, 28, 35, 42, 49, 56, 63 and 70.

First five multiples of 11 are 11, 22, 33, 44 and 55.
First six multiples of 13 are 13, 26, 39, 52, 65 and 78

(a) 8 x 3=24, So 24 1s a multiple of § and 3.

(b) 1 1s a multiple of every number.

(c) The first multiple of a number i1s number itself
(d) Every number 1s a multiple of itself

(e) Any number has infinite multiples.

Multiples of 6 between 20 and 50 are 24, 30, 36, 42 and 48.
Multiples of 17 that are less than 80 are 17, 34, 51, 68.

. Multiples of 19 that are of two digit numbers are 19, 38, 57, 76, 95

(a) The first two common multiples of 3 and 5 are 15 and 30.
(b) The first two common multiples of 3, 4 and 6 are 12 and 24.
(c) The first two common multiples of 2 and 7 are 14 and 28.

. The first three common multiples of’

(a) 2and 3 are 6, 12 and 18.
(b) 6 and 9 are 18, 36 and 54.
(c) 2.3and6are6,12and 18.

No, because 593 1s not completely divisible by 6.



12. 23051 + 37 37)23051\623
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111 Since, 23051 i1s completely divisible by 37.
—“_(l) Thus, 23051 is a multiple of 37.

13. (a) 5and 10
Multiples of 5 are = 5, @ 15,20, ..

Multiples of 10 are . 20, 30, 40, ..

The lowest common multiple of 5 and 10 1s 10.

Thus, LCM of S5and 10 = 10.



(e) 3.4and 6
Multiples of 3 are 3, 6, 9, @ 5, .

Multiples of 4 are 4, 8, @ 18, ..
Multiples of 6 are 6, @ 18, ...

The lowest common multiple of 3,4 and 6 1s 12.
Thus, LCMof3.4and61s 12.

() 5.6and 10
Multiples of 5 are 5, 10, 15, 20, 25, @
Multiples of 6 are 6, 12, 18, 24, @

Multiples of 10 are 10, 20, ,

The lowest common multiple of 5, 6 and 10 1s 30.
Thus, the LCM of 5, 6 and 10 1s 30.

Exercise 5B

1. (a) 3 x7=21,S0 3 and 7 are factors of 21.
(b) 1 1s the smallest factor of every number.

(¢c) Every number is a factor of itself
(d) 0 1s not a factor of any number.

2. (a) 253 6
-16
96 Remainder = 0;

=96 _ Hence. 16 1s a factor of 256.
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Remainder =0,
Hence, 13 1s a factor of 1261,

. (@) 10 =1x10
=2x5 Hence, factorsof 10 are 1, 2, Sand 10.

(by I8 =1x18
=2x9
=3x6 Hence, factorsof 18are 1,2, 3.6, 9and 8.

(c) 63 =1x63
=3 x 2]
=7x9 Hence, factorsof 63 are 1, 3,7, 9, 21 and 63.

(d) 92 =1x92
=2 x46
=4 x 23 Hence, factorsof 92 are 1, 2.4, 23,46 and 92.

(e) 28 =1 x 28
=2x14
=4 x7 Hence, factorsof 28 are 1, 2. 4, 7, 14 and 28.

(H44 =1x44
=2x22
=4 x 11 Hence, factorsofd44 are 1,2,.4, 11, 22 and 44,

(g) 56 =1x56
=2x28
=4 x 14
=T7x8 Hence, factorsof S6are 1,2,4,7, 8, 14, 28 and 56.

(h) 35 =1x35
=35x7 Hence, factors of 35 are |, 5, 7 and 35.



4, (a) 42 =2x21]
=3 x 14  The three factors of 42 are 2, 3 and 14.

(b) 68 =2 x 34
=4 x 17 The three factorsof 68 are 2. 4 and 17.
(c) 85 =5x17

Hence, factors of 85 are 5 and 17. The other factor except 1, 5, 17
and 85 1s not possible.

(d) 51 =3x17
Hence, factors of 51 are 3 and 17. The other factor except 1, 3, 17
and 51 1s not possible.

(e) 40 =2 x20
=5x8 The three factors are 2, 5 and 8.
5. (a) 20 and 32 [(b) 35 and 45
20 =1x20 35 =1x35
=2x 10 =5x7
=4 x5 45 =1 x45
32 =1x32 =5x9
=2x16 =15x%x3
=4 x§ Factors of 35 are .3
Factors of 20 are 5,10 Factors of 45 are \SN\9, 15
Factors of 32 are aa 8. 16 Common factors are | and 5.
Common factorsare 2, 4 and 1.

(c) 15and 20
15 = 1%13
=3 X5
20 =1x20
=2x10
=4 x5

Factors of 15 are|l |35 \and 15
Factors of 20 are(1 )2, AS\10 and 20
Common factors are 1 and 5.

6. (a) 18 and 36
Factorsof 18 are 1,2, 3,6,9and 18
Factorsof 36are 1,2.3.4.6.9, 12, 18 and 36

Since, common factorsare 1,2, 3.6, 9and I8
Thus, HCF of 18 and 36 1s 18.



(¢) 32 and 60
Factorsof 32 are 1,2, 4, 8, 16 and 32
Factorsof 60 are 1,2, 3.4,5,6, 10, 12, 15, 20, 30 and 60 ‘g
Since, common factors are |, 2 and 4.
Thus, HCF of 32 and 60 1s 4.

. 6225+25  25/6225\249
-50V
122
-100

225 Since, remainder =0

% Thus, 25 1s a factor of 6225.

. 18702+ 86  86J18702\217

-172¢
150
-86

642 Since, remainder = 40;
‘% Hence, 86 1s not a factor of 18702.
xercise 5C
. (a) Even numbers ; 24, 62, 90.  (b) Even numbers : 104, 648.
Odd numbers : 13, 43. Odd numbers : 53,237,913

(¢) Even numbers ; 800, 1002, 60004.
Odd number : 901.

. (a) Even numbers between 63 and 82 are 64, 66, 68, 70, 72, 74, 76,
78. 80.
(b) Even numbers between 198 and 220 are 200, 202, 204, 206, 208,
210,212,214, 216, 218.
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A

. (@) Odd numbers between 60 and 80 are 61, 63, 65, 67,69, 71,73, 7!

77.79.

(b) Odd numbers between 273 and 300 are 275, 277, 279, 281, 28
285, 287, 289, 291, 293, 295, 297, 299.

(¢) Odd numbers between 500 and 525 are 501, 503, 505, 507, 50¢
511,513,515, 517,519, 521, 523.

.(a) 10,12, 14, 16, 18, 20 (b) 98
(c) 899,901, 903 (d)I11,13,17,19,23 ; ’-\-'f_*
. (a) Prime Numbers : 3, 17 (b) Prime Numbers : 23,« =

fi‘(‘nl"

(¢) Prime Numbers : 11, 29 and 67 ' =

. (a) Composite Numbers * 6, 16, 51 (MCmmNWMh\J%

(¢c) Composite Numbers : 4, 27, 39
(a) 2,3,5,7,11,13,17,19,23,29,31 (b)2 (c) 2and 3
(d) 4,6,8,9,10,12, 14,15, 16, 18,20,21,22,24 (e¢) Oand |

(a) 24 (b) 36
24) 36)
2 (12 2) (8
2) (6] 2) ()
2) & 3 @
24=2x2x2x3 36=2x2x3x3
(c) 72 (d) 45

T2=2x2x2x3x3 45=3x3 x5



(e) 90

0 9 900=2x3x3x5
Exercise 5D
1. (a) 790 1s divisible by 2. (b) 643 1s not divisible by 2.
(c) 1804 1s divisible by 2. (d) 14792 1s divisible by 2.
(e) 47606 is divisible by 2. () 98175 1s not divisible by 2.

A number 1s divisible by 2 if its ones digit 1s 0,2, 4, 6 or 8.

2. (a) 57102

Add all digits 5+ 7+ 1 + 0+ 2 = 15 which is divisible by 3.
So, 57102 1s divisible by 3.

(b) 38121
J+8+1+2+1=15which s divisible by 3.
So, 38121 is divisible by 3.

(c) 40315
4+0+3+1+5=13 which is not divisible by 3.
So, 40315 is not divisible by 3.

(d) 23456
2+3+4+5+6=20 which is not divisible by 3.
So, 23456 is not divisible by 3.

(e) 1812
| +8+ 1+ 2= 12 which is divisible by 3.
So, 1812 is divisible by 3.

(f) 4382
4+ 3+ 8+ 2= 17 which is not divisible by 3.
So, 4382 1s not divisible by 3.

3. (a) 7576 1s not divisible by 5. (b) 8505 1s divisible by 5.
(c) 98040 is divisible by 5. (d) 12035 1s divisible by 5.
(e) 6565 is divisible by 5. (f) 20005 is divisible by 5.
A number is divisible by 5 if its ones digit is 0 or 5.



4. (a) A number is divisible by 6 if it i1s divisible by 2 and 3 both.
43101 having its ones place as |
Since, 1t is not divisible by 2. So, it 1s not divisible by 6 also.
(b) Its ones place is ‘0 (zero)’, So it is divisible by 2.
Also | +7+6+ 7+ 0=21, which is divisible by 3.
Thus, the number 17670 1s divisible by ‘6’
because 1t is divisible by 2 and 3 both.
(c) Its ones place 1s “8°, which is divisible by “2°
Also 1 +0+5+ 7+ 8=21, which is divisible by ‘3’
Since, the number 10578 is divisible by both 2 and 3
Thus, it 1s divisible by 6.
(d) Its ones place 1s “6” which 1s divisible by *2'and 1 +5+2+3+6
= 17 which is not divisible by “3°.
Since, the number is not divisible by both 2 and 3.
Hence, it 1s not divisible by 6.
(e) Its ones place i1s ‘9" which is not divisible by ‘2°.
Thus, the number 1s not divisible by 6.
(f) Its ones place 1s ‘4’ which 1s divisible by ‘2’and | +9+ 2+ 8 + 4
= 24 which 1s divisible by ‘3’
=> The number is divisible by both 2 and 3.
and thus it 1s divisible by ‘6",

5. (a) 23975 is not divisible by 10.  (b) 280005 is not divisible by 10.
(¢) 150300 1s divisible by 10, (d) 10600 1s divisible by 10,
(e) 11010 is divisible by 10. (f) 12345 1s not divisible by 10.

6. (a) 4013
4+0+1+3=8, which is not divisible by 3. Add | in the number
to make 4013 divisible by 3. So, required number 1s 1.

(b) 56327

S+6+3+2+7=23, which is not divisible by ‘3". Add 4 in the
number to make 56327 divisible by 3
The number next to 23, divisible by 9 is 27
27-23=4
So, required number is ‘4"
Since, 23 + 4 =27 which is divisible by ‘3.
Thus, it 1s divisible by 9 also.






